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http://nit.rudi.ir/neatcc.pdf
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vecsum(A: list): num
{
local n: num;
n= (5+ 2);
return n;
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1 find(A: list, x: num): num
2 {

3 local i: num;

4 local n: num;

5 i=0;

6 for (n in A) {

7 if (n == x)

8 return i;
9 i=A+1;
10 }
11 return -1;
12 }
13
14 main() : num
15 {
16 local A: 1list;
17 local a: num;
18 A = vec(3);
19 A = 5;
20 A[2] = A;
21 A[l] = 8;
22 A = find (A, 5);
23 numprint (find(a, 5));
24 return O;
25 }
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9: incompatible operands!

19: illegal assignment!

22: illegal assignment!

23: illegal parameter!
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sum3 (a: num, b: num, c: num): num
{
return a + b + c;

}

main() : num

{
local a: num;
local b: num;
local c: num;

numread() ;

a
b
c

numread () ;
numread() ;

numprint (sum3(a, b, c));
return O;
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proc sum3
add r0, r0, rl
add r0, r0, r2
ret

proc main
call iget, r3
call iget, rl
call iget, r2
call sum3, r3, rl, r2
call iput, r3
mov r0, O
ret
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